Estimating Bad Debt Using the Allowance Method - Part 2

At the end of the period we take care of adjusting entries. When adjusting for bad debtestimates we use two accounts: bad
debts expense and the allowance for doubtful accounts. This adjusting entry can be calculated one of three ways: the
percent of sales method. percent of account receivables, and aging of account receivables.

Percent of Sales Method
The percent of sales method determines bad debts by assuming a percent of total credit sales* for the current period will be
uncollectible.
*Total Sales may be used instead - familiarize yourself with what the company uses!!! L e
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DPercent of Receivables Method
The percent of receivables method estimates bad debts by assuming a percent of account receivable's ending balance is

going to be uncollectible. This method gives us allowance for doubtful account's ending balance. -
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Aging of Receivables Method
With this method we estimate bad debt based accounts receivable. Yet instead of just looking at the ending balance, we

group each customer on account into catagories based on how far past due their debts are. A percentage of each catagory is
deemed uncollectible (each group has their own rate).
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